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1[SHURA (A) 1,708,228 1,355,000 79.3%
L1EEIRA 855,094 1,005,000 144.2%
LA FEE 416,000 600,000 144.2%
1.1.2|F 2 335,094 300,000 89.5%
113|EER 74,000 75,000 101.4%
1.1.4|Bipk & 30,000 30,000 100.0%
1.2|FZEIRA 853,000 350,000 94.6%
12185 370,000 350,000 94.6%
1.22|FTERIE 483,000 0.0%
1.3| Z DI A 134 0.0%
1.3.1|ZHEFI R 134 0.0%
2| BEAZ I (B) 1,622,082 1,320,000 81.4%
21|97 - £REEFHES, 4) 538,280 490,000 95.0%
211/ R—LR—=D 52,626 50,000 95.0%
2.12|&%H 485,654 440,000 90.6%
TH A2 -ENR 114,240 140,000 122.5%
HE-EEINIL 133,400 50,000 37.5%
EH 238,014] 250,000 105.0%
22|B X (FXiHEN, 2) 850,976 370,000 99.8%
221|885 370,739 370,000 99.8%
BERE 320,057] 320,000 100.0%
ERRIERE - fth 50,682 50,000 98.7%
222 ERILE 480,237 0.0%
288 433,860 0.0%
ERRERLE - i 46,377 0.0%
REL EEIICE TS 220,000 #DIV,/0!
23.1|/MEEBERE 30,000 #DIV/0!
232|85& 150,000 #DIV/0!
233|EmE 30,000 #DIV /0!
234|345 10,000 #DIV/0!
24| ZBRBERE 232,826 240,000 233.4%
241|EBRE 17,141 40,000 233.4%
242\ 215,370 100,000 46.4%
243 FiRE 315 100,000 31746.0%
SHFEINZEZE(C)[(A)-(B)] 86,146 35,000 40.6%
EE RGO 95,000 0 0.0%
[H0OB&EHHE 95,000 0 0.0%
EHiE6, EfEDLEFHEINZELEENC)- A 8,854 35,000  -395.3%
B EARELEE (F) 883,721 874,867 99.0%
R ER R BN 32 = BE(E)+(F) 874,867 909,867 104.0%




